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Math 10B

Factoring: Hard Trinomials
Factor each completely.

1) 6m° +2m—8

3y 28" — 1167+ 16

2
5) 37 +2r- 16

7} 8x% — 50x + 50

9) 4x° + 17x +4

11) 45° = 35—10
13) u® + 16uv + 64v°

15) x* — 11xp + 3017
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2) 3x° — 16x+3
1) 2" —17n—9

6) Sa° —34a+45

8) 4n® — 151 +9

10) 4m° + 13m + 10
12) 8n” —26m—24
14) 2x7 — 223y + 487

16) 4a* — 8ab — 12b°
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IV. Difference of Squares:

Conjugate: Same binomials except opposite signs between the terms.

Multiply the conjugates shown below...
(x+3)(x-3) (5w—4)(5w+4) (4ab—c)(4ab+c)

25wt 2ouemoy =L
&‘ﬁ 2SS -1k fesb iy,

~
Is there a pattern when a binomial gets multiplied by it's conjugate? t
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Criteria...

- two terms that are perfect squares.
- must be a difference

- factor like this...

a2z -b2 = (Q—L>(q {-B)

EXAMPLES...
‘f‘l (s )
1(15“(3(\1\\4
1) 81x2- 16 2) 196x2 -
(Qkx ¢ )( TW+) < ' x~‘t> ( x4+ )
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3) 8x2- 18y? 4) 81z - 625
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